CHESS   Sat 29 January 2005
                                David Ellis  9276 1822 /  openfile@bigpond.com     1

For those familiar with problems this mate in 3 should prove easy to solve.  If problems are somewhat a mystery the best advice is to look for unlikely moves – the first 2 certainly are!
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The annual Corus tournament in Wijk aan Zee has 7 of the top ranked 8 players in the world competing in the top 14 player event, Anand, Topolov, Kramnik, Leko, Morozevich, Adams, Svidler as well as Judit Polgar, runner-up in 2003 and a regular top 10 player, who took a year’s maternity leave in 2004.  Missing unfortunately was the world’s top rated player Gary Kasparov who was unable to compete because of the planned world championship elimination match with Kasimdzhanov. After losing to Adams, early leader Vaselin Topalov again leads with 5.5/8, followed by 2004 winner Vishy Anand, Leko & Adams (5), Grischuk & Kramnik (4.5). Peter Leko played the following fine game to inflict the sole defeat on 2004 winner Vishy Anand:



                Viswanathan Anand   -   Peter  Leko



                                  2005 Corus



                              Sicilian Pelican



 1    e4  
c5  


 2    Nf3  
Nc6



 3    d4  
cxd  


 4    Nxd4  
Nf6



 5    Nc3  
e5  


 6    Ndb5  
d6



 7    Bg5  
a6  


 8    Na3  
b5



 9    Bxf6  
gxf6  


10   Nd5  
f5



11   c3  
Bg7  


12   exf  
Bxf5



13   Nc2  
0-0  


14   Nce3  
Be6



15   Bd3  
f5  


16   0-0   
Ra7



17   a4  
Ne7  


18   Nxe7+  
Rxe7



19   axb  
axb  


20   Bxb5  
d5(a)



21   Ra6  
f4(b) 


22   Nc2  
Bc8



23   Ra8  
Qd6  


24   Nb4  
Bb7



25   Ra7  
d4  


26   Ba6?(c)  
Bxg2!



27   Bc4+(d)  
Kh8  


28   Ra6  
Qc5



29   Kxg2  
f3+  


30   Kh1  
Qxc4



31   Rc6  
Qb5  


32   Rd6  
e4



33   Rxd4(e) 
Bxd4  


34   Qxd4+ 
Qe5



35   Qxe5+ 
Rxe5  


36   Nc2  
Rb8



37   Ne3  
Rc5(f)  

38   Ne3  
Rxb2



39   c4  
Rg5


40   Kh2   
Kg8(g)

a)  Black’s imposing centre provides more than adequate compensation for the pawn.

b)  Said to be a new move, this gives White the opportunity of a promising exchange sacrifice 22 Rxe6, Rxe6  23 Qxd5, Qxd5  24 Nxd5 which White rejects.

c)  In seeking exchanges White leaves his king fatally unprotected.

d)  If 27 Rxe7, Qg6! is decisive. White intended 27 Qb3+ but after 27...Bd5!  28 Nxd5, Rxa7! White has no useful discovered check.

e)  The exchange sacrifice will not save White as the pawn on f3 imprisons the White king.

f)  Naturally not 37...Rxb2  38 Nc4.

g)  Black’s king however is free to enter the fray.  White resigned after another 12 moves.

The Kasparov-Kasimdzhanov match is a no starter after Kasparov withdrew because of a failure of FIDE to gain a financial guarantee within an agreed deadline.  Gary cites continual frustrations over the numerous postponements & cancellations since the Prague Agreement of 2002 which was to involve him in reunification processes.  He states he is unwilling to continue devoting months of preparation for matches which do not eventuate. 

SOLUTION:  1 g8=N! forcing Black to block a potential escape square for his king with 1...b5.  Now 2 Ne7!! avoids a stalemate & gets the new knight quickly into action – 2...Kxb4  3 Nc6#.

